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YcTHas paborta

= 67-100 £56-76

= 180-190 200-210

= -£3+36 78-80

= 16-(-3) 11-(-3)

= -111-(-5) 100 : (-10)
= 23 : (-2) 45 : (-9)

. 24-(-2) -40-(-2)




MaTtemaTtunyecknmn andgaBuT

. L'IVI(DPbI 0111213141516171819
. 3HAKM:=I<)>)+) I °):)%)()°
= JIATUHCKUE BYKBbI: Aa, Bb, Cc, Dd...

= MaTeMaTU4yeCcKkue BblpaxKeHuA:
= (7-3)-2; 2-a; (a-3):9
= 8: (4-5-a); a-b.




" (a-3)'4;

= (a-7)-2;

. 7--3;

= 4-(/+a)

» 2—a-(1+b)
- (4+b)-(2+d)
= -/



VicnpaBbTe 3anucu:

" 3(a+4); 5abcd
= (2-b)-5; (4-b)c
= a3;

= C-4-d;

= 43-7b;

= b-10;

= (2+a)-9







